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(i) {xER:x+J2 oe5) x-J2 a5@@ill @~.} illel> Q)@O)ill er§cseel>23 @~.

(ii) {n EN: n2 + n + 42 @e:»@e:»@~.} illel> Q)@O)ill er§cseeD23 @~.

(iii) {n EN: 6n +1 0e5) 6n -1 g()@)O) @el>J@~.} ~ Q)@t:i)ill ~cseel>23 @el»@~.

(iv) {n EN: n2 + n + 41 gc)®O) @eDJ@~.} illeD Q)@O)ill era5®o:> @~.

(v) {x E Q :0 < x s1} ~ Q)@t:i)G} IR @ gJeDo:>6mcl @el>J@~.

(02)

(i) f: III.-> [ - ~, 00 ) @= f (x) = x' + 3x+ 2 ®Gi15l ®(;<:l) ©WJW.

f :III.-> [ -~, 00 ) @cOCl @tllCltil 00 @ooeJ/5leo. f @tllGl e)Q)() eJtll ~?

X2
(ii) f (x) = -2- ®t@eD @~@ @&)el>f: IR ~ lR@o:>mo@O)eDeD·f@el6JOm

X +1

@OJilleDel>.

(iii) Z SO N () er~63 aO)() aO) oe5) @)o:>()@O:>ill!::D@OJilleDeD.

(iv) 8c.5~ ®60®O 00&)23:> illel> Q)@o)ill era5®o:> Q)@O)ill!::D &)8 @eleD8eDel>.
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Answer all the questions.

(01) . Prove each of the following statements.

(i) The set {x E IR : x + J2 and x - J2 are rationals}is empty.

(ii) The set {n EN: n2 +n+42 is odd}is empty.

(iii) The set {n EN: 6n + 1 and 6n -1 are not primes} is non empty.

(iv) The set {n EN: n2 + n + 41 is not prime} is infinite.

(v) The set {x E Q :0 < x ~ I}is not an interval in IR •

(02)

(i) Consider the function f: IR --> [ ~ ~, 00) given by f (x) ~ x' + 3x +2. Show that

f :IR --> [ ~!,00) is a surjection. Is f one to one?

2

(ii) Consider the function f: IR ~ IR given by f (x) =+- .Find the Rang (f).
x +1

(iii) Find a bijection from Z to N .

(iv) Prove that the set of all even integers is an infinite set.


